Directions for questions 1 to 4: Answer these questions on the basis of the information given below.

Three soccer players – Lampard, Messi and Tevez are playing a game of Penalty shoot-out. In this, every player is allowed to take a shot at the goal 4 times. If he scores a goal, he gets 10 points. If he misses the goal, others are awarded 5 points each. Each player successively takes 4 shots at the goal followed by the next player (not necessarily in the given order). When the three of them have finished one such round (12 shots), the process is repeated in the same order as before. The first player to reach 300 points wins and the game stop once this is achieved. 

The final score was: Lampard: 300 points, Messi: 265 points and Tevez: 215 points. It is also known that a total of 78 shots were taken and 43 goals were scored.
 
1.	How many goals did Lampard score?

(1) 42	(2) 34	(3) 17	(4) 23	(5) 20

2.	How many goals did Messi miss?

(1) 6	(2) 10	(3) 12	(4) 15	(5) 17

3.	How many goals did Tevez score?

(1) 12	(2) 13	(3) 14	(4) 15	(5) 16

4.	How many goals did Lampard miss?

(1) 11	(2) 12	(3) 10	(4) 8	(5) 9


Directions for questions 10 to 12: Following line graph gives percentage increase in number of electronic gadgets sold from the previous year.

			



			


10. If in 1999, 264 crores gadgets were sold, how many gadgets were sold in 1997 (in crores)?
(1) 102.32	(2) 104	(3) 103.23	(4) 100	(5) None of these
11.  If in 2000, the number of gadgets sold was 81 crores, how many gadgets were sold in 1999 (in crores)?
(1) 41	(2) 45	(3) 52.4	(4) 50.62	(5) None of these
12. What was the ratio between number of gadgets sold in 2000 and 2001 respectively?
(1) 9 : 8	(2) 18 : 17	(3) 8 : 7	(4) Indeterminate	(5) None of these


1996	1997	1998	1999	2000	2001	40	50	65	60	80	70	


